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Question ID:- 68
Choose the word from the following given options, which is opposite in meaning (antonym) to the
given word:

Deceptive
Options:-
«reliable, Option ID :- 269,
» deceitful, Option ID :- 270,
» fraudulent, Option ID :- 271,

» Specious, Option ID :- 272,
Answer Given:- reliable, Option ID : -269
Correct Answer :- reliable Option ID :- 269

Question ID:- 89

The metals that produce a sound on striking a hard surface are said to be which among the
following?

Options:-

=sonorous, Option ID :- 353,

« dull, Option ID :- 354,

» lusterous, Option ID :- 355,

» ductile, Option ID :- 356,
Answer Given:- sonorous, Option ID : -353
Correct Answer :- sonorous Option ID :- 353

Question ID:- 86

Which among the following is the correct sequence of human digestive system?

Options:-

«Mouth, Oesophagus, Stomach, Small Intestine and Large Intestine, Option ID :- 341,
« Mouth, Stomach, Oesophagus, Large Intestine, Option ID :- 342,

» Oesophagus, Stomach, Mouth, Large Intestine , Option ID :- 343,

« Mouth, Stomach, Large Intestine, Oesophagus , Option ID :- 344,

Answer Given:- Mouth, Stomach, Oesophagus, Large Intestine, Option ID : -342
Correct Answer :- Mouth, Oesophagus, Stomach, Small Intestine and Large Intestine
Option ID :- 341

Question ID:- 64
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REDD+ mechanism developed by Parties of the UNFCCC helps bring regulations for which of the
following?

Options:-

«Desalination of Water Bodies, Option ID :- 253,

» Deforestation and Forest Degradation, Option ID :- 254,

» Disaster to Development, Option ID :- 255,

= None of These, Option ID :- 256,
Answer Given:- Deforestation and Forest Degradation, Option ID : -254
Correct Answer :- Deforestation and Forest Degradation Option ID :- 254

Question ID:- 8

The IMF expects inflation in India to come down to ___ percent next year.

Options:-

» 3.2, Option ID :- 29,
» 3.6, Option ID :- 30,
« 3.8, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- Not Attempted
Correct Answer :- 4 Option ID :- 32

Question ID:- 102

A person facing towards North, on taking right, will face towards which direction?

Options:-

«North, Option ID :- 405,
« South, Option ID :- 406,
« East, Option ID :- 407,

= None of these, Option ID :- 408,
Answer Given:- East, Option ID : -407
Correct Answer :- East Option ID :- 407

Question ID:- 12

What is the theme of global hackathon organised by RBI?

Options:-

sSustainable Credit Systems, Option ID :- 45,
» Youth Digital Network, Option ID :- 46,

« Smarter Digital Payments, Option ID :- 47,

» Code and Grow, Option ID :- 48,
Answer Given:- Not Attempted
Correct Answer :- Smarter Digital Payments Option ID :- 47

Question ID:- 96
Find the letter in the 11" position when the alphabets are written in alphabetical order from the
right side.

Options:-
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«P, Option ID :- 381,
=« R, Option ID :- 382,
« L, Option ID :- 383,

« K, Option ID :- 384,
Answer Given:- P, Option ID : -381
Correct Answer :- P Option ID :- 381

Question ID:- 3
Where will the Conference of the Parties of the UNFCCC, COP27 take place ?

Options:-

«Sharm El Sheikh, Egypt, Option ID :- 9,

« Glasgow, United Kingdom, Option ID :- 10,
« Madrid, Spain, Option ID :- 11,

« Katowice, Poland, Option ID :- 12,
Answer Given:- Sharm El Sheikh, Egypt, Option ID : -9
Correct Answer :- Sharm El Sheikh, Egypt Option ID :- 9

Question ID:- 24

The retreating of sea water is an warning sign of incoming:

Options:-

«Storm, Option ID :- 93,

» Cyclone, Option ID :- 94,
»« Tsunami, Option ID :- 95,

« Earthquake, Option ID :- 96,
Answer Given:- Tsunami, Option ID : -95
Correct Answer :- Tsunami Option ID :- 95

Question ID:- 16
Who among the following proclaimed himself as "Tuti-e-Hind" or parrot of India ?

Options:-

«Jalaluddin Khalji, Option ID :- 61,

» Ghiyasuddin Tughlaq, Option ID :- 62,
» Sikandar Lodi, Option ID :- 63,

« Amir khusrau, Option ID :- 64,
Answer Given:- Amir khusrau, Option ID : -64
Correct Answer :- Amir khusrau Option ID :- 64

Question ID:- 107
Pointing a photograph X said to his friend Y, "She is the only daughter of the father of my mother."
How X is related to the person of photograph?

Options:-

«Uncle, Option ID :- 425,

« Father, Option ID :- 426,
« Brother, Option ID :- 427,
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=« None of these, Option ID :- 428,
Answer Given:- Brother, Option ID : -427
Correct Answer :- None of these Option ID :- 428

Question ID:- 33

Right to move the Court for issuance of writsis a :
Options:-

sRight to Freedom, Option ID :- 129,

» Directive Principles of State, Option ID :- 130,

« Cultural and Educational Rights, Option ID :- 131,

» Right to Constitutional Remedy, Option ID :- 132,
Answer Given:- Right to Constitutional Remedy, Option ID : -132
Correct Answer :- Right to Constitutional Remedy Option ID :- 132

Question ID:- 119

If the length of rectangle is increased by 20% and breadth is decreased by 10% then what will be
the impact on area?

Options:-

»8% increase, Option ID :- 473,
» 8% decrease, Option ID :- 474,
= 5% increase, Option ID :- 475,

» 5% decrease, Option ID :- 476,
Answer Given:- 8% increase, Option ID : -473
Correct Answer :- 8% increase Option ID :- 473

Question ID:- 121

Twenty women can do a work in sixteen days and sixteen men can complete the same
work in fifteen days. What is the ratio between the capacity of a man and a woman?

Options:-

«1:4, Option ID :- 481,
=« 4:3, Option ID :- 482,
« 7:4, Option ID :- 483,

« Data inadequate , Option ID :- 484,
Answer Given:- 4 : 3, Option ID : -482
Correct Answer :- 4 : 3 Option ID :- 482

Question ID:- 32
Dichloro-diphenyl-trichloroethane (DDT) is a pollutant which is:

Options:-

«Biodegradable, Option ID :- 125,

» Non-biodegradable, Option ID :- 126,
« Biochemical, Option ID :- 127,

=« None of these, Option ID :- 128,
Answer Given:- Non-biodegradable, Option ID : -126
Correct Answer :- Non-biodegradable Option ID :- 126
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Question ID:- 71

Choose the correctly spelt word among the following given options.

Options:-

«Ommineous, Option ID :- 281,
» Omineous, Option ID :- 282,
» Ominous, Option ID :- 283,

=« Omenous, Option ID :- 284,
Answer Given:- Ominous, Option ID : -283
Correct Answer :- Ominous Option ID :- 283

Question ID:- 41
In the Constitution of India, Fundamental rights are mentioned under :

Options:-

«Part I1I, Option ID :- 161,

» Article 1, Option ID :- 162,
» Article 55, Option ID :- 163,

« Part IV, Option ID :- 164,
Answer Given:- Part III, Option ID : -161
Correct Answer :- Part III Option ID :- 161

Question ID:- 48

Who approves the credit limit to National Agricultural Cooperative Marketing
Federation?

Options:-

«Cabinet Committee on Economic Affairs, Option ID :- 189,

« Ministry of 'Agriculture and Farmers' Welfare, Option ID :- 190,

» Ministry of Finance, Option ID :- 191,

» Reserve Bank of India, Option ID :- 192,
Answer Given:- Not Attempted
Correct Answer :- Cabinet Committee on Economic Affairs Option ID :- 189

Question ID:- 70

Select the appropriate option to replace the underline words.
Sharon said nothing, but she drank some tea and ate little bread.

Options:-

seat a little bread, Option ID :- 277,
« ate a little bread, Option ID :- 278,
« ate bread little, Option ID :- 279,

« little bread eat, Option ID :- 280,
Answer Given:- ate a little bread, Option ID : -278
Correct Answer :- ate a little bread Option ID :- 278

Question ID:- 26
Which is the largest linguistic group in India ?
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Options:-

«Negroid, Option ID :- 101,

= Sino-Tibetan, Option ID :- 102,
» Austric, Option ID :- 103,

» Indo-Aryan, Option ID :- 104,
Answer Given:- Indo-Aryan, Option ID : -104
Correct Answer :- Indo-Aryan Option ID :- 104

Question ID:- 6

Where did the recent United Nation Security Council's counter-terrorism two-
day meet took place ?

Options:-

«Jakarta, Option ID :- 21,
« Dubai, Option ID :- 22,

= Sydney, Option ID :- 23,

« India, Option ID :- 24,
Answer Given:- India, Option ID : -24
Correct Answer :- India Option ID :- 24

Question ID:- 56

The monitoring system M-STrIPES is for monitoring which animal ?

Options:-

«Leopard, Option ID :- 221,
« Panda, Option ID :- 222,
« Tiger, Option ID :- 223,

« Koala, Option ID :- 224,
Answer Given:- Not Attempted
Correct Answer :- Tiger Option ID :- 223

Question ID:- 46

Which foreign company has manufactured Indian Railways’ most powerful 12,000 hp electric
locomotive under the Make in India programme?

Options:-

sAlstom, Option ID :- 181,

» Flytoget, Option ID :- 182,

» Great Western Railway, Option ID :- 183,

» Siemens, Option ID :- 184,
Answer Given:- Not Attempted
Correct Answer :- Alstom Option ID :- 181

Question ID:- 118

Two years ago, a father was five times as old as his son. Two years later, his age will be
8 more than three times the age of the son. Find the present ages of father .

Options:-
42 years, Option ID :- 469,
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« 36 years, Option ID :- 470,
» 56 years, Option ID :- 471,

» 64 years, Option ID :- 472,
Answer Given:- 42 years, Option ID : -469
Correct Answer :- 42 years Option ID :- 469

Question ID:- 109

In a code language
"Employee Is Honest" is coded as [Chim Fino Dikul;
"Honest Look Safe" is coded as [Siop Lomo Chim]
"Employee Look Here" is coded as [Piko Fino Siop].
What is the code for" Here"?

Options:-

«Fino, Option ID :- 433,

« Piko, Option ID :- 434,
» Lomo, Option ID :- 435,

« Chim, Option ID :- 436,
Answer Given:- Piko, Option ID : -434
Correct Answer :- Piko Option ID :- 434

Question ID:- 99

Which of the following options can be prefixed to the below given words to
form entirely new words?

TILL

TABLE

TAB

PRING

Options:-

«S, Option ID :- 393,
» G, Option ID :- 394,
» R, Option ID :- 395,

« U, Option ID :- 396,
Answer Given:- S, Option ID : -393
Correct Answer :- S Option ID :- 393

Question ID:- 17

The literature called as Bijak is the creation of which Sufi saint among the following ?
Options:-

«Nanak, Option ID :- 65,

» Surdas, Option ID :- 66,

« Kabir, Option ID :- 67,

« Basavanna, Option ID :- 68,
Answer Given:- Not Attempted
Correct Answer :- Kabir Option ID :- 67

Question ID:- 62

Which of the following is the global not-for-profit organisation dedicated to the conservation and
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restoration of wetlands ?

Options:-

s The Wetlands Initiative, Option ID :- 245,

=« The Nature Conservancy, Option ID :- 246,
» Wetlands International, Option ID :- 247,

« National Wetlands Coalition, Option ID :- 248,
Answer Given:- The Nature Conservancy, Option ID : -246
Correct Answer :- Wetlands International Option ID :- 247

Question ID:- 82

Retinol is also an active form of which among the following?

Options:-

«Vitamin B3, Option ID :- 325,
« Salt, Option ID :- 326,

« Vitamin B2, Option ID :- 327,

« Vitamin A, Option ID :- 328,
Answer Given:- Vitamin A, Option ID : -328
Correct Answer :- Vitamin A Option ID :- 328

Question ID:- 45

As per the reconstruction plan of the Reserve Bank of India in 2020, which Indian
bank is set to invest in the crisis-hit Yes Bank?

Options:-

«Life Insurance Corporation of India, Option ID :- 177,

« State Bank of India, Option ID :- 178,

« ICICI Ltd, Option ID :- 179,

» AXIS Bank, Option ID :- 180,
Answer Given:- Not Attempted
Correct Answer :- State Bank of India Option ID :- 178

Question ID:- 117

The speed of a boat in still water is 15 km/hr. It can go 30 km upstream and return
downstream to the original point in 4 hours 30 minutes. Find the speed of the stream.

Options:-

«4 km/hr, Option ID :- 465,
« 5 km/hr, Option ID :- 466,
« 6 km/hr, Option ID :- 467,

« 7 km/hr, Option ID :- 468,
Answer Given:- 5 km/hr, Option ID : -466
Correct Answer :- 5 km/hr Option ID :- 466

Question ID:- 91
Which among the following is the procedure to view digital signature details in MS PowerPoint?

Options:-
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«Click Edit > Details > View Signatures, Option ID :- 361,
» Click Info > Data > View Signatures, Option ID :- 362,
= Click View > File > View Signatures, Option ID :- 363,

» Click File > Info > View Signatures, Option ID :- 364,
Answer Given:- Click File > Info > View Signatures, Option ID : -364
Correct Answer :- Click File > Info > View Signatures Option ID :- 364

Question ID:- 100
Find the '?' term of the series from the following given series:

7, X24, V22, T20

Options:-

«+Z26, Option ID :- 397,
« J10, Option ID :- 398,
« K15, Option ID :- 399,

« W24, Option ID :- 400,
Answer Given:- 226, Option ID : -397
Correct Answer :- Z26 Option ID :- 397

Question ID:- 72
Choose which of the following option is a one word substitution for given phrase :

A written message from far off place
Options:-

«Photograph, Option ID :- 285,
« Autograph, Option ID :- 286,
« Telegraph, Option ID :- 287,

» Bibliograph, Option ID :- 288,
Answer Given:- Telegraph, Option ID : -287
Correct Answer :- Telegraph Option ID :- 287

Question ID:- 115

The cost price of an article is 64% of the marked price. Calculate the gain percent after allowing a
discount of 12% .

Options:-

2 37.5%, Option ID :- 457,

= 33.50%, Option ID :- 458,
= 45.12%, Option ID :- 459,

» 32.45%, Option ID :- 460,
Answer Given:- 37.5%, Option ID : -457
Correct Answer :- 37.5% Option ID :- 457

Question ID:- 116

64 posts stand at equal distances on a line 320 metres long. One post stands one end only, the
distance of the last post from the other end being the same. Find each such distance.

Options:-
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«+15 m, Option ID :- 461,
= 5 m, Option ID :- 462,
=« 7 m, Option ID :- 463,

= 9 m, Option ID :- 464,
Answer Given:- 5 m, Option ID : -462
Correct Answer :- 5 m Option ID :- 462

Question ID:- 97

Direction: In the given question, one statement has been given followed by two conclusions. Find
which of the given conclusions is true.

Statements:

X=Y>0<P=Q<R

Conclusions:

LY=P

I.R>Y

Options:-

:Only I follows, Option ID :- 385,

» Only II follows, Option ID :- 386,

» Both I and II follow, Option ID :- 387,

= None follows, Option ID :- 388,
Answer Given:- None follows, Option ID : -388
Correct Answer :- None follows Option ID :- 388

Question ID:- 55

The State Disaster Management Authority is headed by whom among the following?

Options:-

=Secretary SDMA, Option ID :- 217,

» Director General, Indian Coast Guard, Option ID :- 218,
» Chief Minister, Option ID :- 219,

« Home Minister, Option ID :- 220,
Answer Given:- Chief Minister, Option ID : -219
Correct Answer :- Chief Minister Option ID :- 219

Question ID:- 74
Complete the given sentence with the right form of verb from the following given options :

I working for three hours now.

Options:-

shave been, Option ID :- 293,
» has been, Option ID :- 294,
« had, Option ID :- 295,

« have, Option ID :- 296,
Answer Given:- have been, Option ID : -293
Correct Answer :- have been Option ID :- 293

Question ID:- 90
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Light pen and joystick are examples of which of the following?

Options:-

«Algorithm, Option ID :- 357,

« Input Devices, Option ID :- 358,
» Output Devices, Option ID :- 359,

» Printing Device, Option ID :- 360,
Answer Given:- Input Devices, Option ID : -358
Correct Answer :- Input Devices Option ID :- 358

Question ID:- 29
Which is the longest Continental Shelf in the world ?

Options:-

s California Shelf, Option ID :- 113,

« Siberian Shelf, Option ID :- 114,

=« Congo Canyon Shelf, Option ID :- 115,

» Sunda Shelf, Option ID :- 116,
Answer Given:- Not Attempted
Correct Answer :- Siberian Shelf Option ID :- 114

Question ID:- 78
Which among the following techniques is the slowest and the most focused type of reading, the

purpose of which is to read, comprehend and retain as much as possible?

Options:-

:Detailed reading, Option ID :- 309,

» Previewing, Option ID :- 310,

» Supplementary reading, Option ID :- 311,

» Sub vocalised reading, Option ID :- 312,
Answer Given:- Detailed reading, Option ID : -309
Correct Answer :- Detailed reading Option ID :- 309

Question ID:- 35

Choose from the following statements, one which is not correct.

Options:-

«Chairman of Zilla Parishad is Elected Directly by People, Option ID :- 137,
» Panchayat Means Five Members, Option ID :- 138,

» Gram Sabha is Lowest Tier in Local Government, Option ID :- 139,

» Gram Sabha is Headed by Sarpanch, Option ID :- 140,

Answer Given:- Chairman of Zilla Parishad is Elected Directly by People, Option ID : -
137

Correct Answer :- Chairman of Zilla Parishad is Elected Directly by People Option ID :-
137

Question ID:- 34
Who was first Prime Minister of free India ?

Options:-
«Dr. Rajendra Prasad, Option ID :- 133,
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» John Mathai, Option ID :- 134,
» Sachindra Sinha, Option ID :- 135,

« Jawaharlal Nehru, Option ID :- 136,
Answer Given:- Jawaharlal Nehru, Option ID : -136
Correct Answer :- Jawaharlal Nehru Option ID :- 136

Question ID:- 94

Find the odd one out from the following options:

Options:-

«Saw, Option ID :- 373,

« Knife, Option ID :- 374,
= Spoon, Option ID :- 375,

« Fork, Option ID :- 376,
Answer Given:- Saw, Option ID : -373
Correct Answer :- Saw Option ID :- 373

Question ID:- 20

When did the Nawab of Bengal surrender his dominions to the British East
India Company?

Options:-

sAfter the War of Mysore, Option ID :- 77,

» After the Battle of Panipat, Option ID :- 78,
» After the Battle of Plassey, Option ID :- 79,

« After Sepoy Mutiny, Option ID :- 80,
Answer Given:- After the Battle of Plassey, Option ID : -79
Correct Answer :- After the Battle of Plassey Option ID :- 79

Question ID:- 57

Chipko movement is related to which of the following?

Options:-

«Soil conservation, Option ID :- 225,

« Bird conservation, Option ID :- 226,

» Community conservation, Option ID :- 227,

» Forest conservation, Option ID :- 228,
Answer Given:- Forest conservation, Option ID : -228
Correct Answer :- Forest conservation Option ID :- 228

Question ID:- 120
A sum Rs. 800 amount to Rs, 915.92 in two years. Calculate the compound interest rate .

Options:-

» 7%, Option ID :- 477,

» 5%, Option ID :- 478,
» 11%, Option ID :- 479,
« 13%, Option ID :- 480,
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Answer Given:- 7%, Option ID : -477
Correct Answer :- 7% Option ID :- 477

Question ID:- 61
Which of the following is true for Ecotone

1. It is the transition zone between two Ecosystem
2. It is the transition zone between two Biome

Options:-

«Only 1, Option ID :- 241,

» Only 2, Option ID :- 242,
« 1 and 2, Option ID :- 243,

= None of these, Option ID :- 244,
Answer Given:- Only 2, Option ID : -242
Correct Answer :- 1 and 2 Option ID :- 243

Question ID:- 44

How many parliamentary constituencies form a part of the Union Territory of Jammu and
Kashmir?

Options:-

« 3, Option ID :- 173,
= 4, Option ID :- 174,
« 5, Option ID :- 175,

=« 6, Option ID :- 176,
Answer Given:- 5, Option ID : -175
Correct Answer :- 5 Option ID :- 175

Question ID:- 31
San Andreas Fault is an example of:

Options:-

s Transform Boundary Interaction , Option ID :- 121,

» Divergent Boundary Interaction, Option ID :- 122,

» Subduction Boundary Interaction , Option ID :- 123,

= None of These , Option ID :- 124,
Answer Given:- Not Attempted
Correct Answer :- Transform Boundary Interaction Option ID :- 121

Question ID:- 59

Which of the following is a cultural keystone species ?

Options:-

« Starfish, Option ID :- 233,

» Sea otters, Option ID :- 234,
= Wolves, Option ID :- 235,

=« White pine, Option ID :- 236,
Answer Given:- Not Attempted
Correct Answer :- White pine Option ID :- 236

Question ID:- 23
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Mango showers are not common in which of the following states of India ?

Options:-

«Gujarat, Option ID :- 89,

» Kerala, Option ID :- 90,

« Karnataka, Option ID :- 91,

« Tamil Nadu, Option ID :- 92,
Answer Given:- Gujarat, Option ID : -89
Correct Answer :- Gujarat Option ID :- 89

Question ID:- 65
Choose the option from the following, that correctly substitutes the idiom/phrase in bold in the
given sentence:

Losing that job was a blessing in disguise really.

Options:-

«to agree on, Option ID :- 257,

=« uncommon and valuable, Option ID :- 258,

» a good thing that seemed bad at first, Option ID :- 259,

= to be very sick, Option ID :- 260,
Answer Given:- uncommon and valuable, Option ID : -258
Correct Answer :- a good thing that seemed bad at first Option ID :- 259

Question ID:- 42

Indicate whether true(T) or false(F):

1) According to the provisions of the J&K Reorganisation Act, 2019, a Bill pending in the
Legislative Assembly lapses by reason of the prorogation of the Legislative Assembly.

2) According to the provisions of the J&K Reorganisation Act, 2019, a Bill which is pending in
the Legislative Assembly shall lapse on dissolution of the Legislative Assembly.

Options:-

«F, F, Option ID :- 165,
« F, T, Option ID :- 166,
« T, T, Option ID :- 167,

« T, F, Option ID :- 168,
Answer Given:- F, T, Option ID : -166
Correct Answer :- F, T Option ID :- 166

Question ID:- 51

Which regulatory body of India has launched a mobile application called ‘SCORES’ ?
Options:-

«Pension Fund Regulatory & Development Authority, Option ID :- 201,
» Reserve Bank of India, Option ID :- 202,

» Insurance Regulatory and Development Authority, Option ID :- 203,

» Securities Exchange Board of India, Option ID :- 204,
Answer Given:- Reserve Bank of India, Option ID : -202
Correct Answer :- Securities Exchange Board of India Option ID :- 204

Question ID:- 18
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On whose death Gandhiji lamented 'My strongest bulwark is gone'?
Options:-

s Gopalakrishna Gokhale, Option ID :- 69,

« Motilal Nehru, Option ID :- 70,

« Bal Gangadhar Tilak, Option ID :- 71,

« Lala Lajpat Rai, Option ID :- 72,
Answer Given:- Gopalakrishna Gokhale, Option ID : -69
Correct Answer :- Lala Lajpat Rai Option ID :- 72

Question ID:- 105
Find the "?' numbers in the given series:

42, 40, 38, 35, 33, 31, 28,7, 7
Options:-

«28, 20, Option ID :- 417,
»« 26, 24, Option ID :- 418,
« 20, 19, Option ID :- 419,

« 14, 10, Option ID :- 420,
Answer Given:- 26, 24, Option ID : -418
Correct Answer :- 26, 24 Option ID :- 418

Question ID:- 103
In a certain code WAND is written as TDKG and MOQDE is written as JRAH. How is HOST written in
that code?

Options:-

«ERPW, Option ID :- 409,
« EPWR, Option ID :- 410,
» EPQR, Option ID :- 411,

« EDGT, Option ID :- 412,
Answer Given:- ERPW, Option ID : -409
Correct Answer :- ERPW Option ID :- 409

Question ID:- 37

Which is not a way to loose Citizenship of India?
Options:-

sRenunciation, Option ID :- 145,

« Naturalization, Option ID :- 146,

« Termination, Option ID :- 147,

« Deprivation, Option ID :- 148,
Answer Given:- Termination, Option ID : -147
Correct Answer :- Naturalization Option ID :- 146

Question ID:- 5

Who received the 2022 Nobel Prize in Literature award ?

Options:-

«Douglas stuart, Option ID :- 17,
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« Margo Jefferson, Option ID :- 18,
»« Annie Ernaux, Option ID :- 19,

» Jennifer Egan, Option ID :- 20,
Answer Given:- Annie Ernaux, Option ID : -19
Correct Answer :- Annie Ernaux Option ID :- 19

Question ID:- 36
is a Formal head of the state of the India.
Options:-
«Prime Minister, Option ID :- 141,
» Governor, Option ID :- 142,
» President, Option ID :- 143,

» Chief Minister, Option ID :- 144,
Answer Given:- Chief Minister, Option ID : -144
Correct Answer :- President Option ID :- 143

Question ID:- 98

Find the wrong number in the given series from the following options :
0,2,3,5,8,10,15,18,24,26,35

Options:-

«+18, Option ID :- 389,
= 24, Option ID :- 390,
« 26, Option ID :- 391,

« 33, Option ID :- 392,
Answer Given:- 24, Option ID : -390
Correct Answer :- 18 Option ID :- 389

Question ID:- 111

Peter is in the East of Tom and Tom is in the North of John. Mike is in the South of John then in
which direction of Peter is Mike?

Options:-

sSouth-West, Option ID :- 441,
=« North East, Option ID :- 442,
« East, Option ID :- 443,

= None of These, Option ID :- 444,
Answer Given:- North East, Option ID : -442
Correct Answer :- South-West Option ID :- 441

Question ID:- 2
What is the name of the longest bridge in Bangladesh?

Options:-

«Padma Bridge, Option ID :- 5,

» Parjatan Hanging Bridge, Option ID :- 6,
» Surma Bridge, Option ID :- 7,

« Taltoli Bridge, Option ID :- 8,
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Answer Given:- Not Attempted
Correct Answer :- Padma Bridge Option ID :- 5

Question ID:- 79

Which one of the following should be avoided when setting priorities?

Options:-

s Taking care of the hard work first, assuming that doing so is the fastest and most
direct way to get rid of it., Option ID :- 313,

» Solving problems in the order in which they arise, Option ID :- 314,
» Doing the easy work first, Option ID :- 315,

=« None of these, Option ID :- 316,
Answer Given:- Doing the easy work first, Option ID : -315
Correct Answer :- None of these Option ID :- 316

Question ID:- 87
Nephran is a functional unit of which among the following organs?

Options:-

«Liver , Option ID :- 345,

« Pancreas , Option ID :- 346,
» Kidney , Option ID :- 347,

= None of these , Option ID :- 348,
Answer Given:- Kidney , Option ID : -347
Correct Answer :- Kidney Option ID :- 347

Question ID:- 93

Which of the following is the full form of VPN?

Options:-

«Virtual Public Network, Option ID :- 369,

» Visual Public Network, Option ID :- 370,

» Virtual Private Network, Option ID :- 371,

» Visual Private Network, Option ID :- 372,
Answer Given:- Virtual Private Network, Option ID : -371
Correct Answer :- Virtual Private Network Option ID :- 371

Question ID:- 49
With which bank did Global Trust Bank merge with in year 20047

Options:-

sReserve Bank of India, Option ID :- 193,
« State Bank of India, Option ID :- 194,

» Union Bank of India, Option ID :- 195,

» Oriental Bank of Commerce, Option ID :- 196,
Answer Given:- Not Attempted
Correct Answer :- Oriental Bank of Commerce Option ID :- 196

Question ID:- 112
Directions: The bar graph given below shows the sales of books (in thousand number)
from six branches of a nublishina comnanv durina two consecitive vears 2000 and 20071
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Total sales of branches B1, B3 and B5 together for both the years (in thousand numbers) is?
Options:-

»220, Option ID :- 445,

»« 530, Option ID :- 446,

= 440, Option ID :- 447,

= 560, Option ID :- 448,
Answer Given:- 560, Option ID : -448
Correct Answer :- 560 Option ID :- 448

Question ID:- 9

The Union Budget for FY 2022-23 this year aims to strengthen the infrastructure with its
focus on priorities of:

1. PM GatiShakti

2. Inclusive Development

3. Financing of investments

Options:-

«1 & 2, Option ID :- 33,

« 1, 2, 3, Option ID :- 34,
« 1 & 3, Option ID :- 35,

« Only 2, Option ID :- 36,
Answer Given:- 1 & 2, Option ID : -33
Correct Answer :- 1, 2, 3 Option ID :- 34

Question ID:- 110

The second half of the english alphabets are written in reverse alphabetical order. The remaining
are all written in alphabetical order. Find the letter in the 16th position from the left.
Options:-

«Z, Option ID :- 437,

=« X, Option ID :- 438,

= V, Option ID :- 439,

« L, Option ID :- 440,
Answer Given:- X, Option ID : -438
Correct Answer :- X Option ID :- 438

Question ID:- 21
The unsuccessful attempt under the leadership of Rash Behari Bose and
Sachin Sanyal was to kill which among the following Viceroy ?
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Options:-

«Lord Hardinge, Option ID :- 81,
« Lord Wylie, Option ID :- 82,

» Lord Dalhousie, Option ID :- 83,

« Lord Monti, Option ID :- 84,
Answer Given:- Lord Hardinge, Option ID : -81
Correct Answer :- Lord Hardinge Option ID :- 81

Question ID:- 58

Which institution launched Composite Water Management Index 2.0 ?
Options:-

«NITI Aayog, Option ID :- 229,

« World Bank, Option ID :- 230,

« World Water Council, Option ID :- 231,

« The Water Project, Option ID :- 232,
Answer Given:- The Water Project, Option ID : -232
Correct Answer :- NITI Aayog Option ID :- 229

Question ID:- 13
Which of the following pass was used by Alexander of Macedonia to enter into India, in 4th
century BC ?

Options:-

sRohtang Pass, Option ID :- 49,
« Nathu La Pass, Option ID :- 50,
» Khyber Pass, Option ID :- 51,

» Zojila Pass, Option ID :- 52,
Answer Given:- Nathu La Pass, Option ID : -50
Correct Answer :- Khyber Pass Option ID :- 51

Question ID:- 77
Choose the correct option:

Which type of communication does adhering to a dress code fall under?
Options:-

shon-verbal, Option ID :- 305,

= spoken, Option ID :- 306,

» written, Option ID :- 307,

= hone of these, Option ID :- 308,
Answer Given:- non-verbal, Option ID : -305
Correct Answer :- non-verbal Option ID :- 305

Question ID:- 15

Which among the following was famous historian visited India with Mahmud of Ghazni ?
Options:-

«Al-Biruni, Option ID :- 57,

« Barakat Ahmad, Option ID :- 58,
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« Agha Ahmad Ali, Option ID :- 59,

« Ibn Abi Zar, Option ID :- 60,
Answer Given:- Al-Biruni, Option ID : -57
Correct Answer :- Al-Biruni Option ID :- 57

Question ID:- 25
The World Heritage site of the Bhimbetka rock shelters is located in which of the following
state ?

Options:-

« Tamilnadu, Option ID :- 97,
=« Punjab, Option ID :- 98,

» Rajasthan, Option ID :- 99,

» Madhya Pradesh, Option ID :- 100,
Answer Given:- Madhya Pradesh, Option ID : -100
Correct Answer :- Madhya Pradesh Option ID :- 100

Question ID:- 10

What is the name of the portal for "Credit-linked government schemes" of Indian
Government?

Options:-

«National Portal of India, Option ID :- 37,

« National Government Services Portal, Option ID :- 38,
»« JanSamarth Portal, Option ID :- 39,

« Indiastack. Global, Option ID :- 40,
Answer Given:- Not Attempted
Correct Answer :- JanSamarth Portal Option ID :- 39

Question ID:- 50

Unclaimed deposits are those deposits which haven’t been operated for a period of

Options:-

«5 years or more, Option ID :- 197,

» 10 years or more, Option ID :- 198,
» 15 years or more, Option ID :- 199,

» 20 years or more, Option ID :- 200,
Answer Given:- Not Attempted
Correct Answer :- 10 years or more Option ID :- 198

Question ID:- 113

In the below given question, a few statements have been given. Analyse the given statements and
answer whether the data given in the statements are sufficient to answer the question or not.

l. Last year 2935 cards were sold.
Il. The number of cards sold this year was 1.2 times that of last year.
How many new year's greeting cards were sold this year in your shop?

Options:-
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«if the data in statement I alone are sufficient to answer the question, Option ID :-
449,

» if the data in statement II alone are sufficient to answer the question, Option ID :-
450,

« if the data even in both the statement together are not sufficient to answer the
question, Option ID :- 451,

« if the data in both the statements together are needed., Option ID :- 452,

Answer Given:- if the data in both the statements together are needed., Option ID : -
452

Correct Answer :- if the data in both the statements together are needed. Option ID :-
452

Question ID:- 95
What will be the rank of the word CULTURAL when the given words are arranged in the dictionary

order?

. CULTURE [l. CULTURAL

I1l. CULTIVATE IV. CULTIST

V. CULTCH VI. CULTIVATION
VIl. CULTIVABLE VIIl. CULTIVATABLE
Options:-

.5t , Option ID :- 377,
. 61", Option ID :- 378,
« 2™ Option ID :- 379,

. 7th , Option ID :- 380,
Answer Given:- 7th , Option ID : -380
Correct Answer :- 7th Option ID :- 380

Question ID:- 27

Shifting agriculture is also called as which of the following?

Options:-

«Badli, Option ID :- 105,

« Kuwar, Option ID :- 106,
« Jhum, Option ID :- 107,

« Rabihan, Option ID :- 108,
Answer Given:- Jhum, Option ID : -107
Correct Answer :- Jhum Option ID :- 107

Question ID:- 108

A certain number of horses and an equal number of men are going somewhere. Half of the
owners are on their horses' back while the remaining ones are walking along leading their
horses. If the number of legs walking on the ground is 70, how many horses are there ?

Options:-

=14, Option ID :- 429,
« 10, Option ID :- 430,
« 16, Option ID :- 431,
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« 18, Option ID :- 432,
Answer Given:- 14, Option ID : -429
Correct Answer :- 14 Option ID :- 429

Question ID:- 76
Complete the given sentence using the appropriate option:

We didn’t go to the match but we watched it on TV.
Options:-

sactual, Option ID :- 301,

» wisely, Option ID :- 302,

« about, Option ID :- 303,

» Since, Option ID :- 304,
Answer Given:- actual, Option ID : -301
Correct Answer :- actual Option ID :- 301

Question ID:- 28

Exfoliation domes are a result of which of the following?
Options:-

« Temperature Changes and Expansion, Option ID :- 109,
« Growth of Ice Within Cracks of Rocks, Option ID :- 110,
» Unloading and Expansion, Option ID :- 111,

» Salt Expansion Due to Thermal Action, Option ID :- 112,
Answer Given:- Salt Expansion Due to Thermal Action, Option ID : -112
Correct Answer :- Unloading and Expansion Option ID :- 111

Question ID:- 104

An accurate clock shows 7 a.m. Through how many degrees will the hour hand rotate
when the clock shows 1 p.m.?

Options:-

»300°, Option ID :- 413,
= 180°, Option ID :- 414,
= 210°, Option ID :- 415,

« Can't be determined, Option ID :- 416,
Answer Given:- 180°, Option ID : -414
Correct Answer :- 180° Option ID :- 414

Question ID:- 43

Who can choose two members of the Legislative Assembly to be the Speaker and the Deputy
Speaker, according to the provisions of the J &K Reorganisation Act, 2019?

Options:-

s The President of India, Option ID :- 169,

» The Legislative Assembly, Option ID :- 170,
« Prime Minister of India, Option ID :- 171,

» The Lieutnant Governor, Option ID :- 172,
Answer Given:- The Legislative Assembly, Option ID : -170
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Correct Answer :- The Legislative Assembly Option ID :- 170

Question ID:- 101

If A=26, B=25, C=24, ......Y=2, Z=1, then find the sum of codes of all letters present in the
undergiven word that are not vowels.
[CIRCUMSTANCES]

Options:-

=139, Option ID :- 401,
« 131, Option ID :- 402,
»« 130, Option ID :- 403,

» 132, Option ID :- 404,
Answer Given:- 131, Option ID : -402
Correct Answer :- 131 Option ID :- 402

Question ID:- 85

Which of the following deficiencies causes Goitre?

Options:-

«Calcium, Option ID :- 337,

=« Phosphorus, Option ID :- 338,
« Iron, Option ID :- 339,

» Iodine, Option ID :- 340,
Answer Given:- Iodine, Option ID : -340
Correct Answer :- Iodine Option ID :- 340

Question ID:- 38
What does the word 'fraternity' means in our Constitution ?
Options:-
sIndia is Independent State, Option ID :- 149,
=« Supreme Power to People, Option ID :- 150,
» Sense of Brotherhood, Option ID :- 151,

« There Would Equal Political Rights to Citizen, Option ID :- 152,
Answer Given:- Sense of Brotherhood, Option ID : -151
Correct Answer :- Sense of Brotherhood Option ID :- 151

Question ID:- 11

Which two Indigenous warships are launched recently at Mazagon Docks Limited
(MDL), Mumbai on May, 2022 ?

Options:-

«'Arihant' and 'Kalvari', Option ID :- 41,

» 'Surat’ and ‘Udaygiri’, Option ID :- 42,

« 'Shishumar' and 'Sindhughosh’, Option ID :- 43,

» 'Shardul’' and 'Kumbhir', Option ID :- 44,
Answer Given:- 'Arihant' and 'Kalvari', Option ID : -41
Correct Answer :- ‘Surat’ and ‘Udaygiri’ Option ID :- 42
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Question ID:- 67

Fill in the blank with the appropriate preposition from the given options to make it a meaningful
sentence:

The baby left muddy footprints  the clean floor.
Options:-

swith, Option ID :- 265,

» from, Option ID :- 266,

« for, Option ID :- 267,

» on, Option ID :- 268,
Answer Given:- on, Option ID : -268
Correct Answer :- on Option ID :- 268

Question ID:- 88

Which of the following is the Conventional source of energy?

Options:-

«coal and petroleum, Option ID :- 349,

» energy from sun, Option ID :- 350,

» heat inside the earth, Option ID :- 351,

» energy from tides, Option ID :- 352,
Answer Given:- coal and petroleum, Option ID : -349
Correct Answer :- coal and petroleum Option ID :- 349

Question ID:- 54
Nidhis are a type of non-banking finance companies (NBFCs). Which state has 80% of

these Nidhis?

Options:-

« Tamil Nadu, Option ID :- 213,

« Karnataka, Option ID :- 214,

« Maharashtra, Option ID :- 215,

« Punjab, Option ID :- 216,
Answer Given:- Maharashtra, Option ID : -215
Correct Answer :- Tamil Nadu Option ID :- 213

Question ID:- 39
Which of the following is not mentioned specifically in Article 19 ?

Options:-

«To form Association or Unions, Option ID :- 153,

» To Practice any Legal Profession, Option ID :- 154,

» Freedom of Speech and Expression, Option ID :- 155,

»« Freedom of the Press, Option ID :- 156,
Answer Given:- To form Association or Unions, Option ID : -153
Correct Answer :- Freedom of the Press Option ID :- 156

Question ID:- 14

WWhirh Af tha Fallrasinma ralar [aiAd tha frondatinmn af tha Imanarial mmadinoes] Chala Advnache D
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Options:-

«Vijayalaya, Option ID :- 53,

» Aditya I, Option ID :- 54,

« Parantaka I, Option ID :- 55,

« Rajaditya, Option ID :- 56,
Answer Given:- Vijayalaya, Option ID : -53
Correct Answer :- Vijayalaya Option ID :- 53

Question ID:- 4
According to the GLOBAL PEACE INDEX 2021, which is the most peaceful country ?

Options:-

«Norway, Option ID :- 13,

« Denmark, Option ID :- 14,
» Iceland, Option ID :- 15,

» Ireland, Option ID :- 16,
Answer Given:- Norway, Option ID : -13
Correct Answer :- Iceland Option ID :- 15

Question ID:- 114
Question is based on the data given below. Study it carefully and answer the question.

In a school out of 250 students studying in class IX, boys & girls are inthe ratioof 2: 3
respectively. Each student likes to play cne or more of the games Badminton Table Tennis
& Foot Ball. 19% of the boys & 16% of the girls play only Badminton. 11% of the boys &
18% of the girls play only Table Tennis and 16% of the boys & 12% of the girls play only
Foot Ball. 15% of the boys & 18% of the girls play Badminton as well as Table Tennis.
17% of the boys & 14% of the girls play Badminton as well as Foot Ball. 15% of the boys &
16% of the girls play table tennis as well as Foot Ball. Remaining boys & girls play all three
games.

How many students play at least one of the two games Badminton & Table Tennis ?
Options:-

« 89, Option ID :- 453,

» 76, Option ID :- 454,

» 143, Option ID :- 455,

» 216, Option ID :- 456,
Answer Given:- 216, Option ID : -456
Correct Answer :- 216 Option ID :- 456

Question ID:- 53

In which year was Planning Commission established in India?
Options:-

1947, Option ID :- 209,

» 1948, Option ID :- 210,

« 1949, Option ID :- 211,
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« 1950, Option ID :- 212,
Answer Given:- 1948, Option ID : -210
Correct Answer :- 1950 Option ID :- 212

GET IT ON
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Question ID:- 106

Which of the following word in the given options does NOT belong with the others?

Options:-

sacute, Option ID :- 421,

« obtuse, Option ID :- 422,
» right, Option ID :- 423,

» Mean, Option ID :- 424,
Answer Given:- Mean, Option ID : -424
Correct Answer :- Mean Option ID :- 424

Question ID:- 92

Which among the following is a shortcut to hide the selected columns in MS Excel?

Options:-

«Ctrl+9, Option ID :- 365,
« Ctri+0, Option ID :- 366,
« Ctrl+8, Option ID :- 367,

« Ctrl+2, Option ID :- 368,
Answer Given:- Ctrl+2, Option ID : -368
Correct Answer :- Ctrl+0 Option ID :- 366

Question ID:- 63

Which of the following is responsible for ozone hole ?

Options:-

«Chlorofluorocarbons, Option ID :- 249,
« Carbon dioxide, Option ID :- 250,

» Oxygen, Option ID :- 251,

=« Methane, Option ID :- 252,
Answer Given:- Chlorofluorocarbons, Option ID : -249
Correct Answer :- Chlorofluorocarbons Option ID :- 249

Question ID:- 84

Among the following, where does growth hormone produce in?
Options:-

«Bone, Option ID :- 333,

« Pituitary gland, Option ID :- 334,

» Thyroid gland, Option ID :- 335,

« Adrenal gland, Option ID :- 336,
Answer Given:- Pituitary gland, Option ID : -334
Correct Answer :- Pituitary gland Option ID :- 334

Question ID:- 40
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The members in House of People from Union Territories shall not exceed by:

Options:-

530, Option ID :- 157,
« 12, Option ID :- 158,
« 238, Option ID :- 159,

« 20, Option ID :- 160,
Answer Given:- 12, Option ID : -158
Correct Answer :- 20 Option ID :- 160

Question ID:- 83

Which of the following materials is used to control the power of a nuclear reactor?

Options:-

«Graphite, Option ID :- 329,

« Boron, Option ID :- 330,

» Beryllium, Option ID :- 331,

» Sodium, Option ID :- 332,
Answer Given:- Graphite, Option ID : -329
Correct Answer :- Boron Option ID :- 330

Question ID:- 47

The of India also is ex-officio Governor on the Board of Governors of the
International Monetary Fund.

Options:-

«Prime Minister, Option ID :- 185,

» Finance Minister, Option ID :- 186,
=« RBI Governor, Option ID :- 187,

= Vice President, Option ID :- 188,
Answer Given:- Finance Minister, Option ID : -186
Correct Answer :- Finance Minister Option ID :- 186

Question ID:- 80
In a group discussion, which of the following should not be done?
Options:-

sspeak in-between, 'intervene and snatch others' chances of speaking, Option ID :-
317,

» Listen to the subject carefully, Option ID :- 318,
» Put down your thoughts on a paper, Option ID :- 319,

« Initiate the discussion if you know the subject well, Option ID :- 320,

Answer Given:- speak in-between, 'intervene and snatch others' chances of speaking,
Option ID : -317

Correct Answer :- speak in-between, 'intervene and snatch others' chances of
speaking Option ID :- 317

Question ID:- 66
Choose from the following given options, the SYNONYM of the given word:
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Endure

Options:-

sintolerance, Option ID :- 261,
= cease, Option ID :- 262,

» succumb, Option ID :- 263,

» tolerate, Option ID :- 264,
Answer Given:- tolerate, Option ID : -264
Correct Answer :- tolerate Option ID :- 264

Question ID:- 75
Choose from the given options, the appropriate continuation of the given sentence:

will he be angry?

Options:-

«If he tell him, Option ID :- 297,
« If I tell him, Option ID :- 298,

« If I told him, Option ID :- 299,

« I told him if, Option ID :- 300,
Answer Given:- If I tell him, Option ID : -298
Correct Answer :- If I tell him Option ID :- 298

Question ID:- 60

The Ramsar convention is associated with the conservation of which of the following?

Options:-

«Drylands, Option ID :- 237,
« Wetlands, Option ID :- 238,
« Birds, Option ID :- 239,

» Bio-fuels, Option ID :- 240,
Answer Given:- Wetlands, Option ID : -238
Correct Answer :- Wetlands Option ID :- 238

Question ID:- 30
What is the upward and downward movement of ocean water is known as:
Options:-
«Stream, Option ID :- 117,
» Tide, Option ID :- 118,
» Wave, Option ID :- 119,

» Current, Option ID :- 120,
Answer Given:- Tide, Option ID : -118
Correct Answer :- Wave Option ID :- 119

Question ID:- 81

Which among the following is Baking soda?
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Options:-

«Sodium peroxide, Option ID :- 321,

=« Sodium bicarbonate, Option ID :- 322,
» Sodium hydroxide, Option ID :- 323,

» Sodium chloride, Option ID :- 324,
Answer Given:- Sodium bicarbonate, Option ID : -322
Correct Answer :- Sodium bicarbonate Option ID :- 322

Question ID:- 52

The Indian Development and Economic Assistance Scheme (IDEAS) operates the Lines of Credit
(LOC) through

Options:-

sReserve Bank of India, Option ID :- 205,
» Ministry of Finance, Option ID :- 206,

« EXIM Bank, Option ID :- 207,

« SIDBI, Option ID :- 208,
Answer Given:- Not Attempted
Correct Answer :- EXIM Bank Option ID :- 207

Question ID:- 69

Complete the given sentence using the appropriate option:
The dead sheep was covered with of flies.

Options:-

ulitter, Option ID :- 273,

« herd, Option ID :- 274,

» Swarms, Option ID :- 275,

= squadron, Option ID :- 276,
Answer Given:- herd, Option ID : -274
Correct Answer :- swarms Option ID :- 275

Question ID:- 22
Which is the highest peak of Indian peninsula ?

Options:-

«Makurni Peak, Option ID :- 85,

» Meesapulimala, Option ID :- 86,
» Anai Mudi, Option ID :- 87,

« Cardamom Hills, Option ID :- 88,
Answer Given:- Anai Mudi, Option ID : -87
Correct Answer :- Anai Mudi Option ID :- 87

Question ID:- 7

Recently, Green Hydrogen Fuel Cell Electric Vehicle (FCEV), Toyota Mirai was
developed in India. What tailpipe emission does it has ?

Options:-
« Water, Option ID :- 25,
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» Hydrogen, Option ID :- 26,
» Oxygen, Option ID :- 27,

« Nitrogen, Option ID :- 28,
Answer Given:- Hydrogen, Option ID : -26
Correct Answer :- Water Option ID :- 25

Question ID:- 73

Read the passage carefully and answer the question from the following given options:

Food can maintain and save life. It can destroy life as well. Proper food serves as medicine,
improper food works as poison. A little care about the quality and quantity of food will keep us
healthy and happy. If we go about eating all sorts of things, we shall become sick.

We take pride in calling ourselves civilized. Being sensible means to know the difference between
good and bad, right and wrong. It will not do to become slaves to our tongue or taste. Even cattle,
birds and beasts eat only what is best for their body.

We mostly eat processed food and refined sugar. We pay heavily for junk food, for Chinese dishes
or deep fried snacks. As a result we catch diseases. We have drifted away from mother nature. We
laugh at the rules of hygiene, healthy diet and the advice of our elders. This has given rise to
diabetes.

We offer chocolates, cakes and ice creams too often to our children. We also attend parties or dine
out every day. This way we invite obesity and diabetes.

Find out a word from the passage that means the same as 'digressed'?

Options:-

sprocessed, Option ID :- 289,

» drifted, Option ID :- 290,

» civilized, Option ID :- 291,

« pride, Option ID :- 292,
Answer Given:- drifted, Option ID : -290
Correct Answer :- drifted Option ID :- 290

Question ID:- 19
Who among the following was not the leader of the Extremists?

Options:-

sLokamanya Tilak, Option ID :- 73,
« Aurobindo Ghose, Option ID :- 74,
» Lala Lajpat Rai, Option ID :- 75,

» A O Hume, Option ID :- 76,
Answer Given:- A O Hume, Option ID : -76
Correct Answer :- A O Hume Option ID :- 76
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